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Al a8t el
K |BARKE| KEE XiE |FHEKE|ETRE| LA NE (BfTAE| 2% | Toft
1A 388 1 1 14 2 58 1 1 275 35
2R 326 19 3 57 1 206 40
3R 355 1 20 3 1 60 1 2 218 49
4R 302 1 33 3 3 55 1 175 31
5RH 368 1 1 28 5 2 67 1 227 36
6R 334 16 2 1 62 215 38
7R 0
8H 0
9AH 0
108 0
118 0
128 0
S5120734 BN 3 0 3 130 18 7 359 2 6 1316 229
SHES 2
AIEREIRFEA 1,910 1 105 15 8 326 6 12 1179 255
AIERIEFH L 163 2 0 25 3 -1 33 -4 -6 137 -26
ﬁﬁfé 1,852 2 1 115 18 7 329 1 4 1151 224
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Al (A)
A P : PR __
K |BRAKE| KE Rl | HEKE(EEPE| KA BiR1TA| 2% | TOM
ShE! 192 13 2 1 42 120 14
Vv okl 142 3 20 95 24
X0 0
Aast 334 0 0 0 16 2 1 62 0 0 215 38
IHhEM
BIAET 1009 1 2 68 10 2 179 1 2 653 91
<A 192 0 0 0 13 2 1 42 0 0 120 14
Rt 1,201 1 0 2 81 12 3 221 1 2 773 105
wEhhbhh
BIAET 728 2 1 44 6 4 118 1 4 448 100
$A 142 0 0 0 3 0 0 20 0 0 95 24
Rt 870 2 0 1 47 6 4 138 1 4 543 124
&5
BIAET 0
$A 2 2
Rt 2 0 0 0 2 0 0 0 0 0 0 0
wRE 2073 3| o| 3 130] 18] ) 2| 6] 1316] 229




